—— V —— &

For Proctor’s Remarks
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A Q2: Explain the effect of temperature rise during machining. (3 Marks) (3 Marks)
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Q3: Describe how excellence in metal-cutting practices can impact the national economy.
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Q5) Rate the following materials accopding to their machinability index (2.5) ,_\
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' d 800 ft/min the
Q7) Tool life tests on lathe provided the following da.ta: 1) at cutting speed .

:f0 was 185 min. What is
tool life was 52.5 minute, 2) at cutting speed 600 ft/min t[l\lqe ﬂ;(Os') life was
the expected tool life at a cutting speed of 900 ft/min. (5 Mar
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strength with 10° rake angle tool, 4mm width of the cut, 1 mm depth of the cut, the chip
thickness was 1.2 mm and the coefficient of friction on the rake face was 1.7. Calculate

a) the required cutting forces, b) the percentage of power dissipated in friction if the
cutting velocity is 120 m/min. (10 Marks

Q8) rning process performed on a material that has 130 MPa shear
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